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Instructions:

1. Questions on Pafi A are compulsory

2. Answer ariy {ive questiorts fi'om Part B

PARl'-A

Mr\ItK-25

Qr-rcstions
no.

Questions rlarl<s

(]r"restion

No, I

Fill in the blanks: lxl0-10

a The binary numbcr that come immediately after (101i l)z is .

b J'he octal number that come intmediate 11' after (177)s is

c The hexaclecimal equivalent ol ( 101 1001 I 1 I )z is

d BCD equin'alent of decinral nutlber (214)ro is .

c r.. gate is also callcd as ittvefter.

1' NAND arrd NOR are called as .

g r\ lirll-adder has . . number of inputs.

h The number of input iines of a Decoder lvith "n" output lines is .

I Nrrmber of full-adders required to build a 4-bit binary adder is '

"D" in D-flip-flop stancls tor

Question
No.2

Write true or false: lri0-10

2a The Gray code equivalerrt of'( 1 1 0 1 )u is 1 00 I .

lb The binarv code of letter "ll'' in ASCII code is (01000001):.

2c Adding i's complement ola binarl'nunlber X to another binarv

number Y yields Y-X.
1..1
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-l'he 
or-rtput of Ex-OR gate is IIIGH when both inputs are sirnilar.

.lc h,x-OR gate can be usecl to implement a NOT gate.

2r A halfl-adder and a half-subtractor recluires sal"ne nunlber of gates.

)o In Boolean Algebra, X.X.X:X.
2h In a 3-variable Boolean Expressiou, a group of fbur 1's in the

con'e sponding K-Map rvill yielcl a [cnr having 3 literals.

2 D-flip-flop can be constructed using .l-K flip-flop.
2 A modulo-10 counter needs 4-flip-flops.

Question
l\o. -1

Choose the conect answer I x5-5

() ia Binarl'e'ctuivalent of Gray'codc il00l1 is-

)
i)

00111

0r010
ii) i000 r0
iv ) 100100
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Itl (77)s + (01)s is [*
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\i) (80)s

ii) (l0A)s
ii) (100)s

iv) None of these.

3c O* of tti. inputs of a two-input NAND gate is permanently tied to

logic '1. The output w'ill be-

i)0 ii) independent of other inPut

__f1)____4ruqiclent on other input iv) at IIIGH impedance

i)
iii)

(A,B)
(A,B)

)T:E
v) None.

k -TA nutfi inPut lines, then-

ii) rn:n
iv) None o1'these.

i) n:2'"
iii) tu:2"

PART-B. MARK-

Que stions
No.

Questions rrarks

Question
No.4
Q4a p.foim the fbtlowing operations using 8-bit 2's complement

arithmetic-
i. (30)ro - (20)ro it. tOq),, - (24),

4

Q4b Perlorm BCD addition-
i. 1125)ro + (2l6Io ii. (654)ro + (275)rc

4

i
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Q4c What is Excess-3 code?

Question
No.5

-M i,.l i m i rrl s 1,-r g B 
"o 

I e a,-r A I gcb ra th e o re nl s-

i, A,B,C + A,ts,C + A,B.C + A.C

ii. (/ + B + C).(,4 +B +C).(/ + B + C).6+ B +C) -

Q5a

Qsb N1 ininrize r.rsing K-map technique.

F(A,ll,C,D) : fm(O,1,2,3,8,9,10,1 1) +,[(7)

Question
No.6

A d,gtfi;trcu,t lraifoo. input lines apd output lines. such that

output goes LOW whenever two or more inpr.tt lines get HIGI I

inpgts. betennine tfie truth table, simplified outprtt expression

draw the los.ic circuit ttsing basic gates.
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Question
No.7

6
Q7a Ll"*pt-an tne working of a full subtractor circuit with the help of its

-!ryl!lq! ls al4!s, 4egery-
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Qeb Draw the block diagram of a 2-to-4 lirre decoder ancl draw its truth
tatrlc.

5

Question
No. 10.

Ql0a Diffbrentiate between Combinational and Sequential Circuits. 2

Qr0b Draw the logic diagranr of a J-K flip-flop u'ith NAND gates ar.rd

rvrite its characteristic tahle.

7

Question
No. i1

Explain the working of a master-slave J-K flip-flop. 9
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